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M. A. (Fourth Semester) (Main/ATKT) 

EXAMINATION, May-June, 2020 

SOCIOLOGY 

Paper XVIII 

(Contemporary Issue in Industry—III) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- ^lkewfgd lkSnsckth* ‘kCn dk iz;ksx loZizFke fdlus fd;k Fkk \ 

¼v½ flMuh o fcVfjl osc 
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¼c½ chp 

¼l½ fQfyIiks  

¼n½ tkWulu 

Who first used the term collective bargaining ? 

(a) Sidney and Beaterice Webb 

(b) Beach 

(c) Filippo 

(d) Johnson 

2- buesa ls dkSu&lk vkS|ksfxd la?k”kZ dk izdkj gS \ 

¼v½ gM+rky 

¼c½ rkykcanh 

¼l½ ?ksjko 

¼n½ mi;qZDr lHkh 

Which of the following is the type of Industrial Struggle ? 

(a) Strike 

(b) Lock-out 

(c) Gherao 

(d) All of the above 

3- 1920 esa fdl Je la?k dh LFkkiuk dh x;h \ 

¼v½ BMS 

¼c½ AITUC 

¼l½ INTUC 

¼n½ HMS 
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Which trade union was established in 1920 ? 

(a) BMS 

(b) AITUC 

(c) INTUC 

(d) HMS 

4- izR;{k fons’kh fuos’k dh vo/kkj.kk fdl iz/kkuea=h ds dk;Zdky esa 

pyk;h x;h Fkh \ 

¼v½ iz/kkuea=h ujflEgk jko 

¼c½ iz/kkuea=h vVy fcgkjh cktis;h 

¼l½ iz/kkuea=h ujsUnz eksnh 

¼n½ iz/kkuea=h eueksgu flag 

The concept of foreign direct investment was introduced 

during the tenure of which Prime Minister ? 

(a) Prime Minister Narsimha Rao 

(b) Prime Minister Atal Bihari Bajpeyee 

(c) Prime Minister Narendra Modi 

(d) Prime Minister Man Mohan Singh 

5- Hkkjr esa izR;{k fons’kh fuos’k dc ykxw fd;k x;k \ 

¼v½ 1991 

¼c½ 1997 

¼l½ 1971 

¼n½ 1981 
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Whew was introduce foreign direct investment in  

India ? 

(a) 1991 

(b) 1997 

(c) 1971 

(d) 1981 

6- fo’o cSad dk eq[;ky; dgk¡ gS \ 

¼v½ okf’kaxVu Mh- lh- 

¼c½ U;w;kWdZ 

¼l½ ftusok 

¼n½ mi;qZDr esa ls dksbZ ugha 

Where is the headquarters of the Word Bank ? 

(a) Washington D. C. 

(b) New York 

(c) Geneva 

(d) None of the above 

7- dk;Z esa ekuoh; lEcU/k dh vo/kkj.kk loZizFke fdlus nh Fkh \ 

¼v½ ,YVu es;ks 

¼c½ ÝsMfjd ÇoLyks Vsyj 

¼l½ flMuh ,oa osc 

¼n½ jksLVkso 
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Who first gave the concept of human relations in work ? 

(a) Alton Mayo 

(b) Frederick Winslow Taylor 

(c) Sidney and Webb 

(d) Rostove 

8- ^nkl dSfiVy* ds ys[kd gSa % 

¼v½ dkyZ ekDlZ 

¼c½ dkyZ ikWij 

¼l½ dkyZ eSughe 

¼n½ dkyZ eSu 

The authour of ‘Das Capital’ is : 

(a) Karl Marx 

(b) Karl Popper 

(c) Karl Mannheim 

(d) Karl Maine 

9- ^nh fizafliy vkWQ lkbafVfQd eSustes.V* ds ys[kd dkSu gSa \ 

¼v½ ÝsMfjd ÇoLyks Vsyj 

¼c½ ,YVsu es;ks 

¼l½ fQfYyiks 

¼n½ Msy ;ksMj 
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Who is the writer of ‘The Principles of Scientific  

Management’ ? 

(a) Frederick Winslow Taylor 

(b) Elton Mayo 

(c) Filippo 

(d) Dale Yoder 

10- 1961 esa fdl vf/kfu;e dks ikfjr fd;k x;k Fkk \ 

¼v½ ekr̀Ro ykHk vf/kfu;e 

¼c½ ngst izfr”ks/k vf/kfu;e 

¼l½ Hkkjrh; vk;dj vf/kfu;e 

¼n½ mi;qZDr lHkh 

Which Act was entacted in 1961 ? 

(a) Maternity Act 

(b) Dowry Prohibition Act 

(c) Indian Income Tax Act 

(d) All of the above 

11- Jfed izokl ds dkj.k gSa % 

¼v½ xzkeh.k xjhch 

¼c½ csjkstxkjh 

¼l½ uxjh; vkd”kZ.k 

¼n½ mi;qZDr lHkh 
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The causes of labour migration are : 

(a) Rural poverty 

(b) Unemployment 

(c) Urban attraction 

(d) All of the above 

12- ^fizafliYl vkWQ ilZuy eSustes.V* ds ys[kd dkSu gSa \ 

¼v½ ,Mfou ch- fQfyIiks 

¼c½ fjpMZ~lu 

¼l½ foYcVZ bZ- ewjs 

¼n½ ,YVu es;ks 

Who is the authour of principles of personal management ? 

(a) Advin B. Filippo 

(b) Richardson 

(c) Wilbert E. Moore 

(d) Elton Mayo 

13- Hkkjr ds fdl m|ksx esa lcls vf/kd efgyk,¡ dk;Z djrh gSa \ 

¼v½ pk; m|ksx 

¼c½ bLikr m|ksx 

¼l½ js’ke m|ksx 

¼n½ dkxt m|ksx 
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Which industry of India employs the most women ? 

(a) Tea Industry 

(b) Iron Industry 

(c) Resham (Silk) Industry 

(d) Paper Industry 

14- Hkkjr esa lwrh diM+k m|ksx fdl uxj esa lokZf/kd gSa \ 

¼v½ fQjkstkckn 

¼c½ vgenkckn 

¼l½ eqjknkckn 

¼n½ bLykekckn 

In which city is the cotton textile industry in India the 

highest ? 

(a) Firozabad 

(b) Ahemdabad 

(c) Muradabad 

(d) Islamabad 

15- fHkykbZ bLikr la;a= dh LFkkiuk fdl iapo”khZ; ;kstuk esa dh x;h  

Fkh \ 

¼v½ izFke iapo”khZ; ;kstuk 

¼c½ f}rh; iapo”khZ; ;kstuk 

¼l½ rr̀h; iapo”khZ; ;kstuk 

¼n½ prqFkZ iapo”khZ; ;kstuk 
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In which five year plan Bhilai Steel Plant was established ? 

(a) First Five Year Plan 

(b) Second Five Year Plan 

(c) Third Five Year Plan 

(d) Fourth Five Year Plan 

16- SAIL dk iwjk uke D;k gS \ 

What is the full name of SAIL ? 

17- Hkkjr esa Åu dk igyk dkj[kkuk dgk¡ yxk;k x;k Fkk \ 

¼v½ dkuiqj 

¼c½ te’ksniqj 

¼l½ lacyiqj 

¼n½ cqjgkuiqj 

Where was the first wool factory setup in India ? 

(a) Kanpur 

(b) Jamshedpur 

(c) Sambalpur 

(d) Burhanpur 

18- vHkzd mRiknu esa Hkkjr dk fo’o esa dkSu&lk LFkku gS \ 

¼v½ izFke 

¼c½ f}rh; 

¼l½ rr̀h; 

¼n½ prqFkZ 
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What is the place of India in asbestos production in the  

world ? 

(a) First 

(b) Second 

(c) Third 

(d) Fourth 

19- fgUnqLrku LVhy fyfeVsM dh LFkkiuk fdl lu~ esa dh x;h \ 

¼v½ 1953 

¼c½ 1956 

¼l½ 1959 

¼n½ 1971 

In which year Hindustan Steel Limited was established ? 

(a) 1953 

(b) 1956 

(c) 1959 

(d) 1971 

20- fdl vf/kfu;e ds vUrxZr 14 o”kZ ls 18 o”kZ rd dh vk;q ds cPpksa 

dks [krjukd dk;Z ij yxkuk izfrcaf/kr gS \ 

¼v½ ckyJe izfr”ks/k vkSj fofu;eu vf/kfu;e] 1986 

¼c½ lafonk Je fofu;eu ,oa lekiu vf/kfu;e] 1970 

¼l½ jkstxkj vf/kfu;e] 1955 

¼n½ ySÇxd vijk/k ls cky laj{k.k vf/kfu;e] 2012 
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Under which Act is it prohibited to put children between the 

ages of 14-18 years on dangerous work ? 

(a) Child Labour Prohibition and Regulation Act, 1986 

(b) Contract Labour Prohibition and Regulation Act, 1970 

(c) Employment Act, 1955 

(d) Protection of Children from Sexual offences Act 

(POCSO), 2012  

 [k.M&c izR;sd 1ଵ
ଶ
 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- vkS|ksfxd laca/k ls D;k rkRi;Z gS \ 

What is meant by Industrial Relation ? 

2- le>kSrk ls vki D;k le>rs gSa \ 

What do you understand by conciliation ? 

3- vUrjkZ”Vªh; Je laxBu ds mís’; D;k gSa \ 

What is the objectives of International Labour Organization ? 

4- izokl D;k gS \ 

What is Migration ? 
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5- Je la?k dks ifjHkkf”kr dhft,A 

Define Trade Union. 

6- vkS|ksxhdj.k dh fdUgha nks fo’ks”krkvksa dk mYys[k dhft,A 

Mention any two characteristics of Industrialization. 

7- izR;{k fons’kh fuos’k D;k gS \ 

What is foreign direct investment ? 

8- r̀rh; fo’o ls vki D;k le>rs gSa \ 

What is meant by Third World ? 

9- izFke fo’o ds ns’kksa ds mnkgj.k nhft,A 

Give examples of First World Countries. 

10- cky Jfed ls vki D;k le>rs gSa \ 

What do you understand by Child Labour ? 

 [k.M&l izR;sd 2ଵ
ଶ
 

(Section—C) 

y?kq mŸkjh; iz’u 
(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 
 Attempt all questions. 

1- vkS|ksfxd la?k”kZ D;k gS \ vkS|ksfxd la?k”kZ ds dkj.kksa dk mYys[k 

dhft,A 

What is Industrial Conflict ? Mention the causes of Industrial 

Conflict. 
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2- lkewfgd lkSnsckth ls vki D;k le>rs gSa \ 

What do you understand by Collective Bargaining ? 

3- vkS|ksxhdj.k dks ifjHkkf”kr dhft,A 

Define Industrialization. 

4- lkekftd Lrjhdj.k ls vki D;k le>rs gSa \ 

What do you understand by Social Stratification ? 

5- \ 

? 

6- m|ksx esa cky Jfedksa dh leL;k dks le>kb,A 

Explain the problem of child labor in Industry. 

7- oMZ cSad ls D;k rkRi;Z gS \ 

What is meant by World Bank ? 

8- i;kZoj.k iznw”k.k ls vki D;k le>rs gSa \ 

What do you understand by Environment Problem ? 

9- /keZ ij vkS|ksxhdj.k ds nks ldkjkRed ifj.kkeksa dh ppkZ  

dhft,A 

Discuss two positive consequences of industrialization on 

religion. 

10- lkekftd i;kZoj.k ls vki D;k le>rs gSa \ 

What do you understand by Social Environment ? 
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 [k.M&n izR;sd 4 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- dk;Z esa ekuoh; lEcU/k ls D;k rkRi;Z gS \ blds ykHk dks crkb,A 

What is meant by human relation at work ? Explain its 

benefits. 

vFkok 

(Or) 

vkS|ksfxd la?k”kZ ds izdkjksa dk o.kZu dhft,A 

Describe the types of Industrial Conflict. 

2- Je la?k dks ifjHkkf”kr dhft, ,oa blds dk;ks± dh foospuk dhft,A 

Define trade union and discuss its functions. 

vFkok 

(Or) 

oS’ohdj.k ls vki D;k le>rs gSa \ oS’ohdj.k esa Je la?kokn dks 

le>kb,A 

What do you understand by globalization ? Explain trade 

unionism in globalization. 
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3- ifjokj D;k gS \ ifjokj ij vkS|ksxhdj.k dk izHkko crkb,A 

What is Family ? Explain the impact of industrialization of 

family. 

vFkok 

(Or) 

lkekftd Lrjhdj.k ds izeq[k vk/kkjksa dh ppkZ dhft,A 

Discuss the main basis of social stratification. 

4- izR;{k fons’kh fuos’k ds ykHk vkSj gkfu dks le>kb,A 

Explain the merits and demerits of foreign direct investment. 

vFkok 

(Or) 

fo’o cSad ij ,d ys[k fyf[k,A 

Write an essay on World Bank. 

5- dkj[kkuk vf/kfu;e] 1948 dks le>kb,A 

Explain Factories Act, 1948. 

vFkok 

(Or) 

fodkl’khy ns’kksa esa i;kZoj.kh; leL;k dks le>kb,A 

Explain the environmental problem in developing countries. 
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